O~

?. FAY 3cak W (v') fovere eeme |

(F) 59 HiddT H fhaehr a1 Fr a7s g7
(i) 95 Fr (i) SR fr
(W) ST T FIT 30T AITAT 872
(i) =X (ii) gy
(3T) ST Sl T HAT o3l 872
(i) AT T I ST (ii) T T INET ST
(5) TR EH FAT AT 872
(i) fae (ii) aTedY

2. wfaar it ufFaar ot fifog)

(%) G,
TT?
QTol of
sTer |

(@) gFha
|
ST T

3. WA (v) T1 Il (x) FT e Feme|

() ST 39 BT T 8T ST 8 |

(@) R a1 3T R B AT S e
@(31) TR F ST FT 3RH Aerar g

(&) S=aT Welsl o g SRl # ST & |

y. rfaf@a weat & 3cax faf@v)
() ST AT & oG T T FAT 57
3cdl.

(iiil) T T
(iii) T&eilar
(iii) AT ST

(iii) Treredr

(iv) st <hr

(iv) dTaT

(iv) STeT ST

(iv) arereft

innl


http://www.onepointlearning.com/

(T) 319k 1Y & H hleT-PleT AT 5?2
3cc.

(37) S8 Hidar # fraer a1 8y Wr &7
3cal.

(E1) TR T JoleT Teha-fehdeh AT T 715 872

1

4, QTeGT F FAISHT T 2AeE TATST|

($)?FFFIFIT + dlell = (@')fa?ﬂ- + L =

(M) =R + dlell = () g + P =

&. HATTd aTel 2sq faf@T|

(@ eRdlar = _ @”ger =_
@ = _ (&) AT =_
b. faeeT oreg faf@w|

(&) 3BT X (@) A X

¢ T ART |



http://www.onepointlearning.com/

Answer

(&) X Hr (@) |} (31) AT Fr MEy ST CIGISEL

()  OTIT, FAT TS AT &
3T IRT-SIRT 8R?
H-UTH of Y-Tef of
oTE $IeTclT Afehat e |

(@) UPh ST a9 3T &
O No-foo Jar |
T&T-TOerr 3RT#H et
TS areref &aT =X

) v @) X (@m v (&) X

() 3H HAAT & Hid FT A fEfas T gl

(@) A G1Y e H AFA-G1IT, SIST-S18T, Irar-ard) 3R AL SIS g8 gl g |
(31) 3T Hiadr & T4 379 9197 I 8 & IR H 91T IR @I 8 |

(&) B hY JoleAT HT T HATATI N TNET oh T I 375 8 |

() AATATATET

(@) feema

(3T) SIRATelT

(8T) Tt

() Heldr (@) e (31) =RT (81 ST

N

() T () qrar

S

T |


http://www.onepointlearning.com/

